* Analogue to Digital = 12 Hour

Analogue to Digital - 12 Hour

1a. Carter arrives at the zoo at the time
shown on the analogue clock. He thinks
he’s on time to watch the sealion show.

1b. Maya arrives at the circus at the time
shown on the analogue clock. She thinks
she’s on time to see the acrobats.

Event .?::‘:

Petting zoo 10:45am
Lion feeding 11:10am
Sealion show 11:30am

Performers ?::‘Z

Clowns 05:50pm
Acrobats 06:05pm
Trapeze 06:30pm

Is he correct? Explain why.

W

Is she correct? Explain why.

|

2a. Which is the earliest and latest time?
am

05:10am

am

it

2b. Which is the earliest and latest time?

03:05am

02:55am

3a. These clocks both show the same
time. What could the missing minute hand
and hour be?

:25

3b. These clocks both show the same
time. What could the missing hour hand
and minutes be?

04:




